61

PISCO.

Quick-Fitting Joint Made of Stainless Steel

Tube Fitting Stainless anti corrosive equiv. to SUS303

W This stainless model is made up Cr20%, Mo2%. Accordingly,
when strength is required it is suited to use within a
chemical’ s atmospheric range. Nitrile rubber is used for the
seal.

Fluid admitted Air

Service pressure range 0~0.9MPa(0~9.18kgf/cm?)
Working vacuum -750mmHg

Service temperature range 0~60°C

Resin body Lock claws(stainless steel)

(polybutylene terephthalate)

Guide ring(SUS303equiv)

Tube end Release ring(polyacetall)

Tube

Elastic sleeve(nitrile rubber)
O-ring(nitrile rubber)

Metallic body
(SF20T:SUS303equivalent)

Sealock-coated

=Ly
@ B® ©
@Type

®@Tube Dia.(¢ D)

Code 4 6 8 10 12 16

Dia. d4mm | ¢6mm | $8mm | 10mm [P 12mm [P 16mm

®@Thread size(R)

Metric thread Taper pipe thread
Code M5 M6 01 02 03 04
Dia. M5X0.8]| M6X1 | R1/8 R1/4 R3/8 R1/2

Before using the PISCO device, be sure to read the
“Safety Instructions”,"Common Safety Instructions for
Products Listed in This Manual”on page 3 and “Common
Safety Instructions for Quick-Fitting Joint”on pages 4 and 5.

/A\Warning

1.Tube Fitting Stainless can not be used for applications in
which the fluid admitted is a chemical. For such application,
use the SUS316 joints.

2.When you use this Tube Fitting in a corrosive environment,
contact PISCO for necessay instructions. Depending on the
working conditions, the joint body may be damaged.



PISCO.

Straight
—
o
Unit : inch
Model ng((an?rha)' R A B L © HEX V‘(g‘%‘t %mﬂe eifes cv
SPC 4-M5 4 M5x0.8 0.14 0.79 0.65 0.59 0.39 0.23 1.80 1.90 0.10
SPC 4-M50 4 M5x0.8 0.14 0.91 0.77 0.59 0.31 0.23 1.80 1.90 0.10
SPC 4-M6 4 M6EX 1 0.18 1.02 0.65 0.59 0.39 0.23 3.00 6.20 0.34
SPC 4-01 4 R1/8 0.31 0.85 0.67 0.59 0.39 0.30 3.00 5.30 0.29
SPC 4-02 4 R1/4 0.43 0.83 0.59 0.59 0.55 0.56 3.00 5.30 0.29
SPC 6-M5 6 M5x0.8 0.14 0.83 0.73 0.67 0.47 0.32 1.80 1.90 0.10
SPC 6-M6 6 M6X 1 0.18 0.87 0.73 0.67 0.47 0.33 3.00 6.20 0.34
SPC 6-01 6 R1/8 0.31 0.91 0.73 0.67 0.47 0.32 4.60 12.50 0.68
SPC 6-02 6 R1/4 0.43 0.89 0.73 0.67 0.55 0.60 4.60 12.50 0.68
SPC 6-03 6 R3/8 0.47 0.96 0.67 0.67 0.67 0.95 4.60 12.50 0.68
SPC 8-01 8 R1/8 0.31 0.92 0.94 0.71 0.55 0.53 6.00 20.00 1.08
SPC 8-02 8 R1/4 0.43 1.04 0.81 0.71 0.55 0.53 7.00 20.00 1.08
SPC 8-03 8 R3/8 0.47 0.94 0.69 0.71 0.67 0.81 7.00 20.00 1.08
SPC 10-01 10 R1/8 0.31 1.20 1.04 0.79 0.67 0.79 6.00 22.90 1.24
SPC 10-02 10 R1/4 0.43 118 0.94 0.79 0.67 0.70 8.50 35.00 1.90
SPC 10-03 10 R3/8 0.47 1.16 0.91 0.79 0.67 0.92 8.50 35.00 1.90
SPC 10-04 10 R1/2 0.59 1.20 0.89 0.79 0.83 1.72 8.50 35.00 1.90
SPC 12-02 12 R1/4 0.43 1.42 118 0.92 0.83 151 8.50 35.00 1.90
SPC 12-03 12 R3/8 0.47 1.26 1.00 0.92 0.83 1.25 11.00 59.00 3.20
SPC 12-04 12 R1/2 0.59 1.34 1.02 0.92 0.83 1.74 11.00 59.00 3.20
SPC 16-03 16 R3/8 0.47 1.55 1.30 0.96 0.94 2.09 11.00 83.30 4.51
SPC 16-04 16 R1/2 0.59 1.63 1.32 0.96 0.94 2.36 13.00 114.00 6.18
o
-
&
) ) o
Union Straight T e
uUnit : inch
Model th’g? n?r:wa) 8 oP o(pr:\f/iln'-(/le 'ﬁiﬁf‘z v
SPU 4 4 122 0.39 0.59 0.18 3.00 5.30 0.29
SPU 6 6 1.38 0.49 0.67 0.23 4.50 12.50 0.68
SPU 8 8 1.50 0.57 0.71 0.33 7.00 20.00 1.08
SPU 10 10 1.73 0.69 0.79 0.56 9.00 35.00 1.90
SPU 12 12 1.89 0.83 0.92 0.77 11.00 55.00 2.98
SPU 16 16 1.97 0.98 0.96 0.88 13.00 147.60 8.00
Elbow
3
-
Unit : inch
Model |TUBSdE | R A B L oP © E Rl | HEE P cv
SPL 4-M5 4 M5x0.8 | 0.14 0.85 0.87 0.39 0.59 0.67 0.39 0.32 1.80 1.50 0.08
SPL 4-M6 4 M6 1 0.18 0.89 0.87 0.39 0.59 0.67 0.39 0.33 3.00 4.20 0.23
SPL 4-01 4 R1/8 0.31 0.92 0.96 0.39 0.59 0.73 0.39 0.42 3.00 4.20 0.23
SPL 4-02 4 R1/4 0.43 1.04 1.00 0.39 0.59 0.73 0.55 0.74 3.00 4.20 0.23
SPL 6-M5 6 M5x0.8 | 0.14 0.87 0.96 0.49 0.67 0.77 0.47 0.42 1.80 1.50 0.08
SPL 6-M6 6 M6 X1 0.18 0.91 0.96 0.49 0.67 0.77 0.47 0.44 3.00 6.10 0.33
SPL 6-01 6 R1/8 0.31 0.98 1.06 0.49 0.67 0.79 0.47 0.49 4.60 10.00 0.54
SPL 6-02 6 R1/4 0.43 1.10 1.10 0.49 0.67 0.79 0.55 0.77 4.60 10.00 0.54
SPL 6-03 6 R3/8 0.47 1.18 116 0.49 0.67 0.79 0.67 123 4.60 10.00 0.54
SPL 8-01 8 R1/8 0.31 1.10 1.22 0.57 0.71 0.91 0.55 0.63 6.00 16.50 0.89
SPL 8-02 8 R1/4 0.43 1.02 1.26 0.57 0.71 0.91 0.55 0.84 6.00 16.50 0.89
SPL 8-03 8 R3/8 0.47 1.50 1.52 0.57 0.71 0.91 0.67 1.30 6.00 16.50 0.89
SPL 10-01 10 R1/8 0.31 1.30 1.48 0.69 0.79 1.04 0.67 1.09 6.00 22.40 1.21
SPL 10-02 10 R1/4 0.43 1.42 152 0.69 0.79 1.04 0.67 1.20 8.00 30.00 1.63
SPL 10-03 10 R3/8 0.47 1.46 1.54 0.69 0.79 1.04 0.67 1.48 8.00 30.00 1.63
SPL 10-04 10 R1/2 0.59 157 1.54 0.69 0.79 1.04 0.83 2.25 8.00 30.00 1.63
SPL 12-02 12 R1/4 0.43 1.50 1.67 0.83 0.92 1.16 0.83 1.78 8.00 30.00 1.63
SPL 12-03 12 R3/8 0.47 154 1.69 0.83 0.92 1.16 0.83 1.81 10.00 47.00 2.55
SPL 12-04 12 R1/2 0.59 1.65 1.75 0.83 0.92 1.16 0.83 2.32 10.00 47.00 2.55
SPL 16-03 16 R3/8 0.43 1.85 2.09 0.98 0.96 1.32 0.87 2.87 11.00 80.20 4.35
SPL 16-04 16 R1/2 0.59 2.01 2.18 0.98 0.96 1.32 0.87 3.01 11.00 93.30 5.06




63

PISCO.

Union Tee ---
2-¢d
Unit : inch
Model o | oP c E od F T =t cv
SPE 4 4 0.39 0.59 0.67 - - 0.25 3.00 5.30 0.29
SPE6 6 0.51 0.67 0.81 0.13 0.31 0.37 5.00 12,50 0.68
SPE 8 8 0.59 0.71 0.89 0.13 0.35 0.55 7.00 20.00 1.08
SPE 10 10 0.71 0.79 1.00 0.17 0.47 0.90 9.00 35.00 1.90
SPE 12 12 0.85 0.92 1.12 0.17 0.55 127 10.70 59.00 3.20
SPE 16 16 1.00 0.94 132 0.17 0.47 153 13.00 89.80 487
o
s
Tee 1 ?T a
a)
<
&
H =
—
R Unit : inch
Model |TiBR eS| R A B L oP c E T o | Ghee | Srta cv
SPB 4-M5 4 |m5x08]| 042 | 081 089 | 039 | 059 | 067 | 039 | 040 1.80 150 | 0.08
SPB 4-M6 4 Méx1 | 016 | 085 | 089 | 039 | 059 | 067 | 039 | 0.40 300 | 410 | o022
SPB 4-01 4 RI/8 | 031 092 | 096 | 039 | 059 | 067 | 039 | 0.49 3.00 | 410 | o0.22
SPB 4-02 4 R4 | 043 | 104 100 | 039 | 059 | 067 | 055 | 084 300 | 410 | 022
SPB 6-M5 6 | M5x08| 012 | 087 | 098 | 051 0.67 | 0.81 047 | 055 1.80 150 | 0.08
SPB 6-M6 6 Mex1 | 0.16 | 0.91 098 | 051 067 | 081 047 | 056 300 | 680 | 037
SPB 6-01 6 RI/8 | 031 1.02 112 | 051 0.67 | 0.81 047 | 062 460 | 10.00 | 054
SPB 6-02 6 Ri/4_| 043 | 1.4 116 | 051 0.67 | 081 055 | 090 460 | 1000 | 054
SPB 6-03 6 R3/8 | 047 | 1.22 122 | 051 0.67 | 081 0.67 | 136 460 | 1000 | 054
SPB 8-01 8 RI/8 | 031 1.04 118 | 059 | 0.71 089 | 055 | 0.79 600 | 1650 | 0.89
SPB 8-02 8 Ri/4 | 043 | 1.16 122 | 059 | 0.71 089 | 055 | 0.99 6.00 | 1650 | 0.89
SPB 8-03 8 R3/8 | 047 | 1.4 128 | 059 | 0.71 089 | 067 | 144 | 600 | 1650 | 0.89
SPB 10-01 10 RI/8 | 031 130 | 014 | 069 | 079 | 1.00 | 067 | 1.44 6.00 | 3000 | 163
SPB 1002 | 10 R4 | 043 | 142 152 | 069 | 079 | 1.00 | 067 | 1.46 800 | 3000 | 163
SPB 1003 | 10 R3/8 | 047 | 1.46 154 | 069 | 079 | 1.00 | 067 | 1.78 800 | 30.00 | 1.63
SPB10-04 | 10 Ri/2_| 059 | 157 160 | 069 | 079 | 100 | 083 | 255 800 | 3000 | 163
SPB12:02 | 12 Ri/4_| 043 | 150 167 | 083 | 092 | 110 | 083 | 2.16 8.00 | 30.00 [ 163
SPB12-03 | 12 R3/8 | 047 | 154 169 | 083 | 092 | 110 | 083 | 216 | 1000 | 47.00 | 255
SPB12-04 | 12 RI/2 | 059 | 165 175 | 083 | 092 | 110 | 083 | 271 | 1000 | 47.00 | 255
SPB 1603 | 16 R3/8 | 047 | 185 | 209 | 098 | 098 | 132 | 087 | 334 | 11.00 | 8010 | 434
SPB16-04 | 16 RI/2 | 059 | 201 218 | 098 | 098 | 132 | 087 | 348 | 13.00 | 90.80 | 4.92
B
o)
‘ E 2-H =
Bulkhead Union 7
, R ] i A 103
il _JHE <
L
2-Gj j 2-C
M Unit : inch
Model |TiBe G| M A B oP c E H e | YegT | G | B cv
SPM 4 4 |wmiax1| 037 | 122 | 043 | 059 | 028 | 055 | 0.6 | 037 300 | 530 | 029
SPM 6 6 | Mmax1| 039 | 138 | 049 | 067 | 039 | 067 | 0.6 | 056 460 | 1250 | 0.8
SPM8 8 | Miex2 | 0.41 148 | 057 | 0.71 035 | 075 | 016 | 0.69 6.00 | 2000 | 1.08
SPM 10 10 [ M20x3| 045 | 169 | 073 | 079 | 051 094 | 020 | 132 800 | 3500 | 1.90
SPM 12 12 | M22x4 | 049 | 185 | 081 | 092 | 0.71 106 | 024 | 1.97 | 11.00 | 71.00 | 385




PISCO.

Different Diam.
Union Straight B

Unit : inch
Tube dia. | Tube dia. Weight Orifice Eff.a.

Model & D(mm) $D(mm) B OP C1 c2 (02) SMM TR CcvVv
SPG 6-4 6 4 1.36 0.49 0.67 0.59 0.23 3.00 5.30 0.29
SPG 8-6 8 6 1.52 0.57 0.71 0.67 0.32 5.50 12.50 0.68
SPG 10-8 10 8 1.73 0.69 0.79 0.71 0.51 7.00 20.00 1.08
SPG 12-10 12 10 2.11 0.83 0.92 0.79 0.79 9.00 35.00 1.90
SPG 16-12 16 12 1.95 0.98 0.96 0.92 0.93 11.00 99.60 5.40

E
o .3-C
Union A ==
S
Unit : inch
Tube dia. Weight Orifice Eff.a.

Model e B8 oP © J E od F (02) SMM mm2 cv
SPAU 4 4 0.67 0.39 0.59 0.43 0.91 0.13 0.57 0.28 3.00 2.50 0.14
SPAU 6 6 0.79 0.49 0.67 0.47 1.04 0.17 0.61 0.40 4.60 7.20 0.39
SPAU 8 8 0.91 0.57 0.71 0.55 1.16 0.17 0.67 0.58 6.00 16.30 0.88
SPAU 10 10 1.00 0.71 0.79 0.71 1.34 0.17 0.75 0.95 8.00 27.90 1251
SPAU 12 12 1.16 0.85 0.92 0.79 1.40 0.17 0.81 1.37 10.00 40.00 2.17

o
<
Branch Elbow &
= -
Unit : inch
Model [[:RECE R A B L P @ J E | "X | g Foo| YR Gmeel Sta | ov
sPAX4Ms | 4 |[M5x0.8] 0.12 | 085 | 092 | 039 | 059 | 043 | 071 | 039 | 013 | 057 | 044 | 1.80 | 2.20 | 0.2
SPAX4M6 | 4 | M6x1| 0.16 | 089 | 092 | 039 | 059 | 043 | 071 | 039 | 013 | 057 | 044 | 3.00 | 2.50 | 0.14
SPAX 4-01 4 R1/8 | 0.31 | 0.96 | 1.00 | 039 | 059 | 0.43 | 091 | 039 | 013 | 057 | 055 | 3.00 | 2.70 | 0.15
SPAX4-02 4 R1/4 | 043 | 1.08 | 1.04 | 039 | 059 | 043 | 091 | 055 | 0.13 | 057 | 084 | 300 | 250 | 0.14
sPAX6-M5 | 6 |[M5x0.8] 0.12 | 0.98 | 1.10 | 0.49 | 0.67 | 0.47 | 0.81 | 047 | 017 | 0.61 | 0.60 | 1.80 | 2.20 | 0.12
SPAX6M6 | 6 | M6x1| 0.16 | 1.02 | 1.10 | 0.49 | 0.67 | 0.47 | 0.81 | 047 | 017 | 0.61 | 062 | 3.00 | 6.40 | 0.35
SPAX 6-01 6 R1/8 | 0.31 | 1.10 | 1.18 | 049 | 0.67 | 0.47 | 1.04 | 047 | 017 | 061 | 065 | 460 | 3.90 | 0.37
SPAX 6-02 6 R1/4 | 043 | 122 | 122 | 049 | 067 | 047 | 1.04 | 055 | 0.7 | 061 | 093 | 460 | 6.60 | 0.36
SPAX 6-03 6 R3/8 | 0.47 | 1.30 | 1.28 | 049 | 0.67 | 0.47 | 1.04 | 067 | 017 | 061 | 1.39 | 460 | 6.80 | 0.37
SPAX 8-01 8 R1/8 | 031 | 122 | 1.34 | 057 | 071 | 056 | 1.16 | 055 | 0.7 | 067 | 0588 | 6.00 | 14.60 | 0.79
SPAX8-02 8 R1/4 | 043 | 1.34 | 1.38 | 057 | 071 | 056 | 1.16 | 055 | 0.7 | 0.67 | 1.07 | 6.00 | 14.50 | 0.79
SPAX8-03 8 R3/8 | 0.47 | 142 | 1.44 | 057 | 071 | 056 | 1.6 | 067 | 0.7 | 0.67 | 1.55 | 6.00 | 15.00 | 0.81
SPAX1001| 10 | R1/8 | 031 | 1.34 | 1.54 | 071 | 079 | 071 | 1.34 | 067 | 0.17 | 075 | 1.55 | 8.00 | 15.00 | 0.81
sPAX1002| 10 | R1/4 | 043 | 1.46 | 157 | 071 | 079 | 071 | 1.34 | 067 | 0.17 | 075 | 1.58 | 800 | 26.10 | 1.14
sPAX1003| 10 | R3/8 | 0.47 | 1.50 | 1.59 | 071 | 079 | 071 | 1.34 | 067 | 017 | 0.75 | 1.88 | 800 | 27.20 | 1.47
SPAX1004| 10 | R1/2 | 059 | 1.61 | 1.65 | 021 | 0.79 | 071 | 1.34 | 083 | 0.7 | 0.75 | 2.66 | 800 | 29.90 | 1.62
sPAx1202| 12 | R1/4 | 043 | 161 | 1.79 | 0585 | 092 | 0.79 | 1.40 | 083 | 0.17 | 0.81 | 2.32 [ 10.00 | 38.20 | 2.07
SPAX1203| 12 | R3/8 | 047 | 165 | 1.81 | 0585 | 092 | 0.79 | 1.40 | 083 | 0.7 | 0.81 | 2.36 | 10.00 | 43.10 | 2.34
sPAX1204]| 12 | R1/2 | 059 | 1.77 | 1.87 | 0585 | 092 | 0.79 | 1.40 | 083 | 0.17 | 0.81 | 2.92 | 10.00 | 42.10 | 2.28
Different Diam.
Union Tee
Al
L
Unit : inch
Model  |TUBedE | TReda | oP c1 c2 E1 E2 @d F e %f nce | Efa cv
SPEG 6-4 4 4 0.51 0.67 0.59 0.81 0.79 0.13 0.31 0.39 3.00 4.10 0.22
SPEG 8-6 8 6 0.59 0.73 0.73 0.89 0.81 0.13 0.35 0.53 5.00 10.30 0.56
SPEG 10-8 10 8 0.69 0.81 0.81 1.00 0.98 0.17 0.47 0.84 7.00 19.60 1.06
SPEG 12-10| 12 10 0.83 0.92 0.92 1.16 1.16 0.17 0.55 1.23 9.00 32.50 1.76




PISCO.

65

2-¢D

1o
Ty T
U o«
Branch Tee |
unit : inch
Model |TuBeSE | R A B L op c E SR s L cv
SPD 4-M5 4 | wmsx08 | 012 | 081 138 | 039 | 059 | 067 | 039 | 040 | 1.80 190 | 0.10
SPD 4-M6 4 M6x1 | 0.6 | 0.85 138 | 039 | 069 | 067 | 039 | 056 | 3.00 530 | 0.29
SPD 4-01 4 RI/8 | 031 | 092 148 | 039 | 059 | 067 | 039 | 051 3.00 530 | 0.29
SPD 4-02 4 Ri/4 | 043 | 104 | 148 | 039 | 059 | 067 | 055 | 083 | 3.00 530 | 0.29
SPD 6-M5 6 | M5x08| 012 | 0.1 159 | 051 | 067 | 079 | 047 | 055 | 1.80 190 | 0.10
SPD 6-M6 6 Méx1 | 016 | 004 | 159 | 051 | 067 | 079 | 047 | 056 | 3.0 6.40 | 0.35
SPD 6-01 6 RI/8 | 031 1.02 165 | 051 | 067 | 079 | 047 | 060 | 460 | 1250 | 0.68
SPD 6-02 6 R4 | 043 | 114 | 169 | 051 | 067 | 079 | 0865 | 092 | 460 | 1250 | 0.68
SPD 6-03 6 R3/8 | 047 | 122 175 | 051 | 067 | 079 | 067 | 136 | 460 | 1250 | 0.68
SPD 8-01 8 RI/8_| 031 104 | 18 | 059 | 071 | 087 | 056 | 079 | 600 | 2000 | 1.08
SPD 8-02 8 R4 | 043 | 1.16 185 | 059 | 071 | 087 | 055 | 1.00 | 600 | 20.00 | 1.08
SPD 8-03 8 R3/8 | 047 | 124 | 191 | 059 | o071 | 087 | 067 | 144 | 600 | 2000 | 1.08
SPD 10-01 10 RI/8 | 031 130 | 215 | 069 | 079 | 1.00 | 067 | 144 | 800 | 3500 | 1.90
SPD 1002 | 10 R4 | 043 | 142 | 218 | 069 | 079 | 100 | 067 | 146 | 800 | 3500 | 1.90
SPD 1003 | 10 R3/8 | 047 | 146 | 220 | 069 | 079 | 1.00 | 067 | 072 | 800 | 3500 | 1.90
SPD 1004 | 10 Ri2 | 059 | 157 | 226 | 069 | 079 | 100 | 08 | 253 | 800 | 3500 | 1.90
SPD 1202 | 12 Ri/4 | 043 | 150 | 236 | 083 | 092 | 110 | 08 | 215 | 800 | 3500 | 1.90
SPD12:03 | 12 R3/8 | 047 | 154 | 238 | 083 | 092 | 110 | 083 | 1.85 | 1000 | 59.00 | 3.20
SPD 1204 | 12 Ri2 | 059 | 165 | 244 | 083 | 092 | 1.10 | 08 | 273 | 1000 | 59.00 | 3.20
SPD 1603 | 16 R3/8 | 047 | 085 | 291 | 098 | 094 | 132 | 087 | 315 | 11.00 | 7950 | 431
SPD 1604 | 16 RI/2 | 059 | 201 293 | 098 | 094 | 132 | 087 | 348 | 1300 | 9280 | 5.03
Union Elbow
Unit : inch
Model B | P c E od F Wegt | Sl || Bl cv
SPV 4 4 0.39 0.59 0.67 - - 0.20 2.80 4.20 0.23
SPV 6 6 0.49 0.67 0.81 0.13 0.31 0.30 5.00 10.00 0.54
sPv8 8 0.59 0.71 0.87 0.17 0.39 0.39 7.00 16.50 0.89
SPV 10 10 0.69 0.79 1.02 0.17 0.47 0.67 9.00 30.00 1.63
SPV 12 12 0.83 0.92 1.14 0.17 0.55 0.96 11.00 47.00 2.55
SPV 16 16 0.98 0.94 1.30 0.17 0.47 118 13.00 91.60 4.96
~J .
rl rl
it
o
Union Y ‘
o |11 Nad
(<2} ! ‘ |
i
L. 136D
kol Unit : inch
Model Pt B oP c J od F Wegt | Ghiee || Bis cv
SPY 4 4 1.32 0.39 0.59 0.43 0.13 0.57 0.28 3.00 4.20 0.23
SPY 6 6 1.50 0.51 0.67 0.47 0.13 0.63 0.37 4.60 10.00 0.54
SPY 8 8 1.69 0.59 0.73 0.55 0.13 0.69 0.55 6.00 16.50 0.89
SPY 10 10 1.93 0.71 0.81 0.71 0.18 0.79 0.90 7.50 27.00 146
SPY 12 12 2.16 0.85 0.92 0.79 0.18 0.89 1.30 9.00 38.00 2.06
SPY 16 16 2.48 0.98 0.96 0.94 0.18 0.89 155 13.00 56.50 3.06




PISCO.

~ 2002
I R s 5
of I
Different Diam. Q1) ol
Union Y SIS
= Er AN
s WA
5 i 1 i \ od
e
..l ¢D1
3-0F Unit : inch
Model | (b O | | B oP c c2 od F il s et cv
SPW 6-4 6 4 1.48 051 0.67 0.59 0.13 0.61 0.37 3.00 4.20 0.23
SPW 8-6 B 6 1.67 0.59 073 0.67 0.13 0.69 0.51 4.60 10.00 0.54
SPW 10-8 10 8 1.91 0.71 0.81 0.73 0.17 0.77 0.81 6.00 16.50 0.89
SPW 12-10 12 10 2.16 0.85 0.92 0.81 0.17 0.89 1.25 7.50 27.00 1.46
Branch Y
Unit : inch
Model qu;g(e nfn‘f) R A B L oP © J H od F V‘é‘g‘%‘t %r;\f/'fN‘f E:rfna2 cv
spxams | 4 |msxos8| 012 | 150 | 138 | 039 | 059 | 043 | 039 | 013 | 057 | 042 | 180 1.50 | 0.08
sPxame | 4 | wmexi| 016 | 154 | 138 | 039 | 059 | 043 | 039 | 013 | 057 | 042 | 180 150 | 0.08
SPX 4-01 4 R1/8 | 031 | 161 | 150 | 039 | 059 | 043 | 039 | 013 | 057 | 053 | 300 | 420 | 0.23
SPX 4-02 4 R1/4 | 043 | 173 | 150 | 039 | 059 | 043 | 055 | 013 | 057 | 081 | 300 | 420 | 023
SPX6-M5 | 6 |M5x08| 0.12 | 163 | 148 | 051 | 067 | 047 | 047 | 013 | 063 | 056 | 1.80 150 | 0.08
SPX6-M6 | 6 | M6x1 | 016 | 167 | 152 | 051 | 067 | 047 | 047 | 013 | 063 | 056 | 3.00 | 650 | 035
SPX 6-01 6 Ri/8 | 031 | 1.75 | 159 | 051 | 067 | 047 | 047 | 013 | 063 | 063 | 460 | 10.00 | 0.54
SPX 6-02 6 Ri/4 | 043 | 187 | 163 | 051 | 067 | 047 | 055 | 013 | 063 | 088 | 460 | 1000 | 0.54
SPX 6-03 6 R3/8 | 047 | 195 | 171 | 051 | 067 | 047 | 067 | 013 | 063 | 1.37 | 460 | 1000 | 0.54
SPX 8-01 8 R1/8 | 031 | 193 | 177 | 059 | 073 | 055 | 055 | 013 | 069 | 083 | 6.00 | 1650 | 0.89
SPX 8-02 8 R1/4 | 043 | 205 | 181 | 059 | 073 | 055 | 055 | 013 | 069 | 104 | 600 | 1650 | 0.89
SPX 8-03 8 R3/8 | 047 | 211 | 185 | 059 | 073 | 055 | 067 | 013 | 069 | 1.50 | 6.00 | 1650 | 0.89
sPx10-01] 10 | mri/8 | 031 | 218 | 203 | 071 | 081 | 071 | 067 | 018 | 079 | 150 | 7.50 | 30.00 | 1.63
sPx10-02] 10 | mi/a | 043 | 230 | 207 | 071 [ 081 | 071 | 067 | 018 | 079 | 151 | 750 | 30.00 | 163
sPx10-03] 10 | ma/8 | 047 | 234 | 209 | 071 [ 081 | 071 | 067 | 018 | 079 | 1.81 | 750 | 30.00 | 163
sPx10-04] 10 | Ri/2 | 059 | 246 | 215 | 071 | 092 | 071 | 083 | 018 | 079 | 257 | 750 | 3000 | 163
sPx12-02] 12 | Ri/4 | 043 | 250 | 226 | 083 | 092 | 079 | 083 | 018 | 089 | 224 | 800 | 37.00 | 2.01
SPx12-03| 12 | R3/8 | 047 | 254 | 228 | 083 | 092 | 079 | 083 | 018 | 089 | 227 [ 900 | 37.00 [ 2.01
spx12-04] 12 | Rij2 | 059 | 266 | 234 | 083 | 092 | 079 | 083 | 018 | 089 | 2.80 | 9.00 | 37.00 | 2.01
sPx16-03] 16 | ma/8 | 047 | 301 | 276 | 096 | 096 | 094 | 087 | 018 | 089 | 336 | 11.00 | 5450 | 2.95
sPx16-04] 16 | Ri/2 | 059 | 317 | 285 | 096 | 096 | 094 | 087 | 018 | 089 | 350 | 13.00 | 59.00 | 3.20
B o
Ci 4-C2 2
=
Different Diam. L R ) i i -
Double Y o D[ﬂf I By o L 7ﬂ
RS A I
L | e —
]
¢d Fg
<
< Unit : inch
Model  [TBe g [LRedel & oP1 | oP2 | cf c2 J od P Yed | Qe | Bt | oy
SPRG 6-4 6 4 148 | 051 0.41 067 | 059 | 039 013 | 055 049 | 2.30 150 | 0.08
SPRG 8-6 8 6 167 | 057 0.51 0.71 067 | 051 014 | 063 072 | 4.00 820 | 044




67

PISCO.

()]
A 4-C &
H N .
Branch Double Y el ol -
04— — [
N L
[ R R r‘/,,,,f SN
R i
d L
U F o
L <
< Unit : inch
Tube dia Weight | Orifice | Eff.a.

Model $D(mm) R A B L P (0] Jl H od F ©2) MM TR CV
SPRX 4-01 4 R1/8 0.31 1.81 1.65 0.41 0.59 0.39 0.47 0.13 0.55 0.76 2.30 1.50 0.08
SPRX 4-02 4 R1/4 0.43 1.93 1.69 0.41 0.59 0.39 0.55 0.13 0.55 1.04 2.30 1.40 0.08
SPRX 6-01 6 R1/8 0.31 1.99 1.83 0.51 0.67 0.51 0.55 0.14 0.63 1.02 3.90 9.00 0.49

F2
3-pP2 3-pD2
(N) \ \ 2-$3.3
Different Diam. Triple — &l Al }Wmh/ _w
O-I Tiaii e | e TP
< il e
A J | J][2-C1
© B
N Unit : inch
Tube dia.|Tube dia. Weight | Orifice | Eff.a.

Model SDT(mm)|6D2(mm) B OP1 oP2 C1 Cc2 Jl E F1 F2 ©2) SMM o CcVv
SPKG 6-4 6 4 2.36 0.51 0.39 0.67 0.59 0.39 0.73 0.31 1.34 0.56 3.00 5.00 0.27
SPKG 8-4 8 4 2.46 0.59 0.39 0.71 0.59 0.39 0.75 0.35 1.34 0.67 3.00 6.00 0.33
SPKG 8-6 8 6 2.74 0.59 0.51 0.71 0.67 0.47 0.83 0.35 1.57 0.81 4.60 10.10 0.55
SPKG 10-6 10 6 3.15 0.71 0.59 0.79 0.67 0.55 0.94 0.41 1.81 1.09 4.60 11.20 0.61
SPKG 10-8 10 8 3.15 0.71 0.59 0.79 0.71 0.55 0.92 0.41 1.81 1.16 7.00 19.10 1.04

~F2
3-90 P2 3-pD2
[a -
3] ] 2033 .
Branch Triple 0 N P N e i
L T P -
R AR
A JLJLC1RIE
L <l
B Unit : inch
[Tube dia. {Tube dia. Weight | Orifice | Eff.a.
Model oD(mm) | Dem) R A B L OP1 | ®P2 | C1 c2 J E H F1 F2 ©2) | oMM | mm2 CcVv
SPKD 6-4-01 6 4 |R1/8|031 270|254 051|039 |067|059]|039]|073|047 | 031134 | 081]3.00 | 5.00] 0.27
SPKD 8-4-02 8 4 R1/4 1 0.43 | 291 | 268 | 0.59 | 0.39 | 0.73 | 0.59 [ 0.39 | 0.77 | 0.55 | 0.35 | 1.34 | 1.18 | 3.00 | 5.20 | 0.28
SPKD 8-6-02 8 6 R1/4 1 0.43 | 3.19 | 2.95 | 0.59 | 0.51 | 0.73 | 0.67 | 0.47 | 0.79 | 0.55 | 0.35 | 1.57 | 1.28 | 4.60 | 9.60 | 0.52
SPKD 10-8-03 10 8 R3/8 | 0.47 | 3.68 | 3.42 | 0.71 | 0.59 | 0.81 | 0.73 [ 0.55 | 0.94 | 0.67 | 0.41 | 1.81 2.09 [ 7.00 |19.10 | 1.04
Unit : inch
Tube dia. Weight Orifice Eff.a.
Model 6D(mm) P (0] E od F ©2) SMM il CcVv
SPVU 4 4 0.39 0.59 0.67 0.13 0.41 0.26 3.00 3.70 0.20
SPVU 6 6 0.49 0.67 0.81 0.17 0.49 0.37 4.60 8.30 0.45
SPVU 8 8 0.57 0.71 0.89 0.17 0.49 0.53 6.00 16.00 0.87
SPVU 10 10 0.71 0.79 1.04 0.17 0.57 0.90 8.00 30.20 1.64
SPVU 12 12 0.85 0.92 1.16 0.17 0.61 1.27 10.00 40.20 2.18




PISCO.

Tripod Elbow
.
Unit : inch

Model [R50l R A B L oP c E H od Fo| Yoot Smee | e | ov
SPVX4M5 | 4 |M5x0.8| 012 | 085 | 096 | 039 | 059 | 067 | 0.39 | 013 | 0.41 040 | 1.80 | 230 | 0.12
SPVX4-M6 | 4 | M6x1 | 0.16 | 089 | 096 | 039 | 059 | 067 | 039 | 013 | 0.41 042 | 3.00 | 360 | 0.20
SPVX 4-01 4 R1/8 | 031 | 096 | 1.00 | 039 | 059 | 067 | 039 | 013 | 0.41 051 | 3.00 | 400 | 0.22
SPVX 4-02 4 R1/4 | 043 | 1.08 | 1.04 | 039 | 059 | 067 | 055 | 013 | 0.41 0.83 | 3.00 | 350 | 0.19
SPVX 6-M5 6 |M5%x0.8| 0.12 | 1.00 | 1.14 | 049 | 067 | 081 | 047 | 017 | 049 | 056 | 1.80 | 2.30 | 0.12
SPVX6M6 | 6 | M6x1 | 0.16 | 1.04 | 1.14 | 049 | 067 | 081 | 047 | 017 | 049 | 051 | 3.00 | 590 | 0.32
SPVX 6-01 6 R1/8 | 031 | 112 | 120 | 049 | 067 | 081 | 047 | 017 | 049 | 063 | 400 | 850 | 0.46
SPVX 6-02 6 R1/4 | 043 | 124 | 124 | 049 | 067 | 081 | 055 | 017 | 049 | 090 | 400 | 800 | 0.43
SPVX 6-03 6 R3/8 | 047 | 130 | 128 | 049 | 067 | 081 | 067 | 017 | 0.49 137 | 400 | 840 | 0.46
SPVX8-01 8 R1/8 | 031 | 120 | 1.32 | 057 | 071 | 089 | 055 | 017 | 049 | 083 | 6.00 | 17.10 | 0.93
SPVX 8-02 8 R1/4 | 043 | 132 | 1.36 | 057 | 071 | 0.89 | 055 | 017 | 0.49 1.04 | 6.00 | 17.50 | 0.95
SPVX 8-03 8 R3/8 | 047 | 1.38 | 1.40 | 057 | 071 | 089 | 067 | 017 | 0.49 148 | 6.00 | 17.40 | 0.94
SPVX1001| 10 | Ri/8 | 031 | 138 | 165 | 069 | 079 | 1.04 | 067 | 017 | 057 148 | 800 | 17.40 | 0.94
SPVX1002| 10 | R1/4 | 043 | 150 | 159 | 069 | 079 | 1.04 | 067 | 017 | 057 153 | 800 | 31.50 | 1.71
SPVX10-03| 10 | R3/8 | 0.47 | 154 | 161 | 069 | 079 | 1.04 | 067 | 017 | 057 183 | 800 | 28.10 | 152
SPVX1004| 10 | R1/2 | 059 | 165 | 167 | 069 | 079 | 1.04 | 083 | 017 | 057 | 257 | 800 | 2430 | 1.32
SPVX 12:02| 12 R1/4 | 043 | 1.61 179 | 083 | 092 | 1.16 | 0.83 | 017 | 061 225 | 8.00 | 40.90 | 2.22
SPVX1203| 12 | R3/8 | 047 | 165 | 1.81 | 083 | 092 | 1.16 | 0.83 | 017 | 061 227 | 10.00 | 45.00 | 2.44
SPVX 12:04| 12 R1/2 | 059 | 177 | 1.87 | 083 | 092 | 1.16 | 083 | 017 | 061 2.80 | 10.00 | 44.80 | 2.43

Cap
Unit : inch
Model qug?mdr‘s- B oP1 op2 © V‘ég‘%‘t

SPPF 4 4 0.65 0.39 0.28 0.59 2.50

SPPF 6 6 0.73 0.51 0.35 0.67 3.50

SPPF 8 8 0.79 0.59 0.43 0.71 5.00

SPPF 10 10 0.89 0.71 0.51 0.81 8.00

SPPF 12 12 0.98 0.85 0.63 0.91 11.50

68



